SECTION 2-6 (DAY 1)

1. Use graphs to determine the limits at infinity below:
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2. Algebraically find the limits below and draw a picture demonstrating what this limit indicates about the
graph of the function.

2 T =32/ e
(?M)(yxz)slimé_:i— -—--—“"_——/’"‘o L%\\j

lim aAVAY
o0 (222 + 7) d (/xz) X0 2 *“32 /-// R S)&:\S »

ém2—|—4;> (X(q) _ hm "/-’__,/”

X—ali_lgohx"—i—?)’ C/x‘/) _x—am z+

UAF Calculus 1 1 2-3



V3s2 41
3. Find all vertical and horizontal asymptotes in the graph of the function g(s) = 23; ++1 .
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